
SIDE OF FANSIDE OF FAN

SERRATED 5/16-18 

FLANGE NUT

SERRATED 5/16-18 

FLANGE NUT

FIND CENTER OF THE SIDE OF 

THE FAN, BOTH VERTICALLY 

AND HORIZONTALLY  AND 

DRILL THRU A HOLE 21/64" 

(Both Sides)

FIND CENTER OF THE SIDE OF 

THE FAN, BOTH VERTICALLY 

AND HORIZONTALLY  AND 

DRILL THRU A HOLE 21/64" 

(Both Sides)
SPACERSPACER

FAN BRACKETFAN BRACKET

THUMB NUTTHUMB NUT

www.extremeshowsupply.com            Call or Txt - PH: 812-642-4372

ADJUSTABLE FAN MOUNT
Extreme Show Supply’s novel Adjustable Fan Mount design allows you to use an array 
of aftermarket fans with varying widths.  Not only can you use pivoting style fans, but 
you can adapt any “20-inch” style inexpensive box fan, available at big box stores, to 
your ADJUSTABLE FAN MOUNT with the provided hardware.

FOR MODIFICATION OF “BOX STYLE” FANS:
(1) Remove either the front or backside grill cover.
(2) On each side of the fan, find the center with respect to vertical and horizontal location and mark these locations.
(3) Using a 21/64 drill bit, place a hole in each side of the fan housing from the previously marked locations.
(4) Place a 5/16 bolt (provided), through the hole, from the inside out and screw 5/16 serrated nut on bolt and tighten 
firmly. Repeat on other side. You have just created two “axles” for the fan to mount and tilt on the ADJUSTABLE FAN 
MOUNT.

(5) Place grill cover back on fan and tighten grill cover bolts.
(6) Slide one (1) spacer onto each “axle” bolt oriented with larger diameter hole facing side of fan to encapsulate 
the 5/16" serrated nut
(7) Loosen Thumb screw on ADJUSTABLE FAN MOUNT and spread apart to receive fan.
(8) Slide back together placing axle bolts, on fan, through each hole on the ADJUSTABLE FAN MOUNT.
(9) Place Thumb Screws (provided) on each axle bolt and tighten.
(10) Fan may be tilted to desired angle by simply loosening the thumb nuts and tilting fan to orientation and retightening 
the thumb nuts.

SERRATED 5/16-18 

FLANGE NUT

SERRATED 5/16-18 

FLANGE NUT

OUTISIDE OF 

FAN

OUTISIDE OF 

FAN
5/16-18 BOLT5/16-18 BOLT


	FAN-MOUNTING-INSTRUCTIONS-Website.vsdx
	Page-1


